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West Bengal Police Constable (Prelims) Exam. – Practice Set
Answer with Explanation
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1. (c) !¢öìBþy˜y †yöìŠéîû îy„þöìœ „%þ£z̃ y£z̃  þ™yçëûy ëyëûéÐ !îKþy˜#
„þÄyöìîûyœy¢ !œ!˜ëûy¢ ~£z †yöìŠéîû ˜y›„þîû’ „þöìîû̃ Ð

2. (b) !¦þÝþy!›˜éôé!¢ ~îû x¦þyöìî ßþñy!¦Åþ öîûy† £öìëû íyöì„þÐ !¦þÝþy!›˜éôé!¢
~îû îûy¢yëû!˜„þ ˜y› £œéôéxÄy¢„þîû!î„þ xÄy!¢vþÐ

3. (a) !e!þ™Ýþ„þ þ™y!œ ¦þy¡ìyëû öœ…y £öìëû!ŠéœÐ ~!Ýþ £œ öîïkþöì”îû
þ™!îe •›Å@ùÌsþiÐ

4. (a) Ÿy£‹y£yöì̃ îû ‰þyîû þ™%öìeîû ›öì•Ä ”yîûy!Ÿöì„þy ¦þ†îê †#“þy ç
vþzþ™!˜¡ì” šþy¢Å# ¦þy¡ìyëû x˜%îy” „þöìîû!Šéöìœ˜Ð

5. (c) ¢Á±!“þ ¦þyîû“þ#ëû ö¢˜yîy!£˜# ~î‚ ¦þyîû“þ#ëû îyëû%öì¢˜yîy!£˜#îû
›öì•Ä x˜%!Ûþ“þ ¢y›!îû„þ ›£vþüyîû ˜y› £œéôé††˜ ßþTÉy£z„þéôé2Ð

6. (c) „þëûy!œ ÷“þœ öŸy•˜y†yîû =‹îûyöìÝþîû ¦þöì”y”îûy ö‹œyëû
xî!ßþi“þÐ ~!Ýþ £z!uþëûy˜ xöìëûœ „þöìþ™ÅyöìîûŸ˜ myîûy þ™!îû‰þyœ“þ
£öìëû íyöì„þÐ

7. (d) ¦þyîûöì“þîû îûyÜT Éþ™!“þ !˜îÅy!‰þ“þ £˜éôôô é™yœÅyöì›rÝþ ç îûy‹Ä
xy£z̃ ¢¦þyîû !˜îÅy!‰þ“þ ¢”¢Äöì”îû myîûyÐ ¦þyîûöì“þîû î“Åþ›y˜
îûyÜTÉþ™!“þîû ˜y› ×#›!“þ öoïþ™”# ›%›Å%Ð

8. (a) ¦þyîûöì“þîû ²Ìí› övþþ™%!Ýþ ²Ì•y˜›sþf# £öìœ˜ ¢”Åyîû îÍÔ¦þ¦þy£z
þ™ÄyöìÝþœÐ !“þ!˜ 15 xy†ÞÝþ– 1947 öíöì„þ 15 !vþöì¢Áºîû–
1950 ¢yœ xî!• ~£z þ™öì” !˜ë%_« !Šéöìœ˜Ð

9. (b) ›!£œyöì”îû  !šþšþy !îÙ»„þyþ™ š%þÝþîœ ‰þ#öì̃  x˜%!Ûþ“þ £öìëû!Šéœ
~î‚ ~£z ö…œyëû ›y!„Åþ˜ ë%_«îûyÜTÉ– ˜îûçöìëûöì„þ þ™îûy!‹“þ „þöìîû
‰þÄy!Á™ëû̃  £öìëû!ŠéœÐ

10. (b) 2024 ¢yöìœîû 7 ö› ¢yîûy !îÙ»‹%öìvþü çëûyÓÅþ xÄy‹›y övþ
þ™y!œ“þ £œÐ çëûyÓÅþ xÄy‹›y övþ ²Ì!“þ îŠéîû ö› ›yöì¢îû ²Ìí›
›Dœîyîû þ™y!œ“þ £öìëû íyöì„þÐ ~îŠéöìîû ²Ìí› ›Dœîyîû 7 ö›
þ™öìvþü!ŠéœÐ

11. (b) îy‚œyëû x!›eyÇþîû Šéöì̈ îû þ²Ìí›  ²Ìî“Åþ˜ „þöìîû!Šéöìœ˜ ›y£zöì„þœ
›•%¢)”˜ ”_Ð !“þ!˜ îy‚œy ¢y!£öì“þÄîû ²Ìí› „þ!î !£¢yöìî
¢y!£!“þÄ„þ ›£y„þyîÄ òö›‡˜y” î• „þyîÄó îû‰þ˜y „þöìîû!Šéöìœ˜Ð

12. (b) òîöì̈ ›y“þîû›ó ¢‚†#“þ!Ýþ î!Bþ›‰þöìwîû ö”Ÿydöìîy•„þ vþzþ™˜Äy¢
òxy˜¨›öìàþó îûöìëûöìŠéÐ

13. (d) þ™!Øþ›îöìDîû ˜”#ëûy ö‹œyîû „,þ¡Œ˜†îû ›y!Ýþîû þ™%“%þöìœîû ‹˜Ä
!î…Äy“þÐ

14. (b) !þ™¤þ™öìvþüîû ýöìœ šþîû!›„þ xÄy!¢vþ íyöì„þÐ ~Šéyvþüyç xyöìþ™öìœéôé
›Äy!œ„þ xÄy!¢vþ– ”£zöìëû œÄy„þ!Ýþ„þ xÄy!¢vþ– öœî%öì“þ ¢y£z!ÝþÆ„þ
xÄy!¢vþ íyöì„þÐ

15. (a) £zvþz!˜öì¢šþ ¢Á±!“þ ¦þyîûöì“þîû !î!ŸÜT î!œvþzvþ ‰þœ!F‰þe
x!¦þöì̃ e# „þ!îû̃ y „þyþ™%îûöì„þþ ˜ÄyŸ˜yœ ö¢!œ!îÊ!Ýþ xÄyÁºy¢Äyvþîû
!£¢yöìî !˜ë%_« „þöìîûöìŠéÐ

16. (c) ‹öìœîû ›öì•Ä þ™Ýþy!Ÿëûy› •y“%þ öšþœöìœ £y£zöìvÈþyöì‹˜ †Äy¢
vþzêþ™§¬ £öìëû íyöì„þÐ

17. (a) !¦þÝþy!›˜ ~ó îû îûy¢yëû!˜„ ˜y› £œéôéöîû!Ýþ˜œÐ ~£z !¦þÝþy!›öì̃ îû
x¦þyöìî îûy“þ„þy˜y– !šþöì̃ yvþy›Åy ~î‚ ö„þîûyöìÝþy›Äyöìœ!¢ëûy öîûy†
£öìëû íyöì„þÐ

18. (c) ²ÌöìÙÀ vþzöìÍÔ!…“þöì”îû ›öì•Ä !Ýþþ™% ¢%œ“þy˜ šþîûy¢#öì”îû ¢öìD ë%_«
!Šéöìœ˜Ð !“þ!˜ šþîûy¢#öì”îû ¢öìD ë%_« £öìëû ¦þyîûöì“þ !îÊ!ÝþŸöì”îû
!îîû&öìkþ ë%kþ „þöìîû!Šéöìœ˜Ð

19. (b) 1969 ¢yöìœ 14!Ýþ îÄyöìBþîû ‹y“þ#ëû„þîû’ „þîûy £öìëû!ŠéœÐ
20. (c) 6 ö› ¢yîûy !îÙ»‹%öìvþü ò£zrÝþyîû̃ ÄyŸ˜yœ ö˜y vþyöìëûÝþ övþó þ™y!œ“þ

£öìëû ö†œ– ëyîû ~îŠéöìîûîû !í› £œéôôôé ‘Embrace Yourself:
Reject Diet Culture, Love You’.

21. (a) öîû¦þyöìîûuþ ö‹›¢ œöì̂ îû x˜%öìîûyöì•  ˜#œ”þ™Å̃  ˜yÝþ„þöì„þ
£z‚öìîû‹#öì“þ x˜%îy” „þöìîû!Šéöìœ˜ ›y£zöì„þœ ›•%¢)”˜ ”_Ð !“þ!˜
²Ìí› îyˆy!œ „þ!î !£¢yöìî ¢y!£!“þÄ„þ ›£y„þyîÄ òö›‡˜y” î•ó
îû‰þ˜y „þöìîû!Šéöìœ˜Ð

22. (c) î_Å›y˜ ¦þyîû“þ @ùÌsþi!Ýþ îû‰þ˜y „þöìîûöìŠé̃  ßþºy›# !îöìî„þy˜¨Ð !“þ!˜
1893 ¢yöìœ !Ÿ„þyöì†y !îÙ»•›Å ¢öìÁ¿œöì̃  ¦þyîû“þ#ëû !ŸÇþy–
•›Å ç ¢‚ßþ,ñ!“þîû £z!“þî,_ “%þöìœ •öìîû!Šéöìœ˜Ð

23. (b) îyöìëûy†Äyöì¢îû ›)œ vþzþ™y”y˜=!œ £œéôôôé„þyîÅ̃  vþy£zx:y£zvþ–
!›öìí˜ ç £y£zöìvÈþyöì‹˜Ð

24. (a) þ™,!íî#îû ö›yÝþ ßþiœ¦þyöì†îû x‚Ÿ !£¢yöìî ¦þyîûöì“þîû x‚Ÿ
£œé2.4 Ÿ“þy‚ŸÐ

25. (d) ¢Á±!“þ ²Ì„þy!Ÿ“þ òçëûyÓÅþ ö²Ì¢ !šÊþvþ› £zöìuþ:óéôé~ ¦þyîû“þ
159“þ› ßþiyöì̃  îûöìëûöìŠéÐ ö›yÝþ 180!Ýþ ö”öìŸîû çþ™îû „þîûy ~£z
îûÄy!Bþ‚ “þy!œ„þyëû ²Ìí› ßþiyöì̃  îûöìëûöìŠé ˜îûçöìëûÐ
!îƒ oƒéôôôé xÄy!‰þ¦þyöì¢Åîû 105 ˜Áºîû þ™,Ûþyëû 25 ˜Áºîû ²ÌöìÙÀîû
vþz_îû xþ™Ÿ˜ (b) ö”çëûy íy„þöìœç ~îû ¢!àþ„þ vþz_îû
xþ™Ÿ˜ (d) £öìîÐ ~£z x!˜FŠéy„,þ“þ ¦%þöìœîû ‹˜Ä Çþ›y²ÌyíÅ#Ð

26. (b) had I will replace I had because–
When a negative Adverb/Adverbial
Expression (no sooner, hardly/barely/scarcely),
is used at the beginning of a clause; it is
followed by Aux. Verb + Subject.
Exp: No sooner had  he finished dinner.

27. (c) by will replace with because–
by (Prep.) is used for indicating the agent/
object after a Passive Verb
Agent/Object - his friend
Passive Verb - accompanied
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With (Prep.) indicates being in the company
of
Look at the examples given below :
His friend stayed with him in the hospital.

28. (c) rely on (Phr. V.): to depend on
Here, relies is the right usage.

29. (c) go down (Phr. V.) : to fall to the ground; to
become lower ; to be written in something; to
be recorded or remembered insomething
go by (Phr. V. )  : (of time) to pass;to be guided
by something; to form an opinion from
something
go on (Phr. V.) : (of time) to pass; continues
without changing ; continue speaking, often a
short pause
go through (Phr. V.) : to look at or examine
something carefully; to experience or suffer
something
Here, go down is the right usage

30. (b) liberate (Verb) : to free a country or a person
fetter (Verb) : to restrict somebody’s freedom;
shackle
restore (Verb) : to bring back to a former
condition, place or position
exonerate (Verb) : to officially state that
somebody is not responsible for something that
he has been blamed for
distract (Verb) : divert ; to take somebody’s
attention away from what he is trying to do

31. (d) confrontation (Noun) : a situation in which
there is angry disagreement
conciliation (Noun) : the act of pacifying ; the
act of making somebody less angry or more
friendly
dispute (Noun) : an argument or a disagreement
irritation (Noun) :  the act of annoying
somebody
separation (Noun) : the act of separating people
or things.

32. (a) A person with a long experience of any
occupation Called- veteran.

33. (a) repeal (verb) : if a government or other group
or person with authority repeals a law, that law
is no longer valid.
abrogate (Verb) : to officially end a law, an
agreement etc.

destroy (Verb) : to damage something so badly
that it no longer exists, works etc.
delay (Noun, Verb) : a period of time when
somebody/something has to wait because of a
problem that makes something slow or late
dismiss (Verb) : to decide that somebody/
something is not important and not worth think-
ing or talking about.

34. (a) criticize (Verb) : to say that you disapprove of
somebody/ something
censure (Verb) : to criticize somebody severely
often publicly ; rebuke
appreciate (Verb) : to recognize the good
qualities of somebody/ something
blame (Verb) : to say that somebody/something
is responsible for something bad
abuse (Verb) : to use something in away that
is wrong or harmful

35. (d) To snap one’s finger at means-to stay away
from something.

36. (a) a = 9 £öìœ !¢!îû‹!Ýþ £öìî

92 + 9 = 90
92 – 9 = 72
92 × 9 = 729
92 ÷ 9 = 9

37. (c) 41 43 47 55 71

+2 +4 +8 +16

×2 ×2 ×2
38. (a) ö†ï£y!Ýþ Šéyvþüy îy!„þ=!œ îûyöì‹Äîû îûy‹•y˜#Ð

39. (b) Yellow Šéyvþüy îy!„þ=!œ ²Ìyí!›„þ îû̂ Ð

40. (c) xy› £œ ~„þ²Ì„þyîû šþœ– xyœ% £œ ›,”†“þ „þy[þÐ
41. (a) E = 5, HOTEL = 60 ÷ 5 = 12

LAMB = 12 + 1 + 13 + 2 = 28 ÷ 4 = 7
þ™!‹Ÿ˜ ˜‚ öëy† „þöìîû öë„þÝþy î’Å £öìî ö¢Ýþy !”öìëû ¦þy†Ð

42. (a) F

6

R A N C E

18 1 14 3 5

43. (c) îyîyîû îyîy éôôôé àþy„%þîû”y— àþy„%þîû”yîû ˜y“þ!˜ éôôôé öîy˜— öîyöì̃ îû
ßþºy›# éôôôé ‹y›y£zîyî%Ð ¢%“þîûy‚ Y £œ X ~îû ‹y›y£zîyî%Ð

44. (a) ›!£œy!Ýþ îÄ!_«!Ýþîû ›y £öìî˜Ð
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45. (d) F
A
C
E
B
D

46. (b)
M Q O

P N R

R N P

O Q M

Row  1

Row  2

47. (d) 7 × 2 = 14 – 1 = 13
13 × 2 = 26 – 1 = 25
25 × 2 = 50 – 1 = 49
49 × 2 = 98 – 1 = 97
97 × 2 = 194 – 1 = 193

48. (a) L ~îû ßþiy˜#ëû ›y˜ 12 ~îû ¢öìD D ~îû ßþiy˜#ëû ›y˜ 4 ¦þy†
„þîûöìœ (12 ÷ 4) = 3 þ™y£zÐ
~„þ£z¦þyöìî– Z ~îû ßþiy˜#ëû ›y˜ 26 ~îû ¢öìD B ~îû ßþiy˜#ëû
›y˜ 2 ¦þy† „þîûöìœ xy›îûy þ™yî (26 ÷ 2) = 13

49. (c) B C

A D E

¢%“þîûy‚ þ™)îÅ !”„þÐ

50. (b) 20 !›C B

D A

40 !› 40 !›

öëöì£“%þ– AD = BC = 20 !›Ýþyîû
¢%“þîûy‚– D !î¨% 20 !›Ýþyîû ”)öìîû xî!ßþi“þ A !î¨% öíöì„þÐ

51. (d) ¦þyöìœy
öŠéöìœ

›y %̃¡ì

52. (b) ç¡ì%•
vþy_«yîû
ö›öìëû

53. (b) ‡!vþüöì“þ ‡^ùÝþy ç !›!˜öìÝþîû „¤þyÝþy þ™îûßþ™öìîûîû vþzþ™îû ~„þöìe
íy„þöìî xíÅyê 0° ö„þï!’„þ ›y˜ ¢,!ÜT „þîûöìî 1Ýþy ç 2 öÝþyîû
›öì•ÄÐ

¢%“þîûy‚ 110 min ~ 30 H
2

   

110 min ~ 30 1
2

   

11 min ~ 30 0
2

  

30 2 60 5min 5
11 11 11


  

¢%“þîûy‚ 1Ýþy 
5

11  !›!˜öìÝþ 0° ö„þy’ ¢,!ÜT „þîûöìîÐ

54. (a) 42 + 32 + 22 + 12 = 30
55. (d) 27

56. (a)

57. (b)

58. (a) 1

59. (d) 71 111 109 131 169   

71 111 109 131 13    

71 111 109 12   

71 10 

81 9 
60. (b) •!îû– ¢‚…Äy ”%!Ýþ a ç b

a + b = 25
a – b = 13
––––––––––
2a = 38
a = 19
 n = (25 – 19) = 6
 ab = 19 × 6 = 114

61. (a) 5 6 7 9 15 39 159

+1 +1 +2 +6 +24 +120

×1 ×2 ×3 ×4 ×5
 !˜öì’Åëû ¢‚…Äy = 39
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62. (c) 37291éôéö„þ 21 myîûy ¦þy† „þîûöìœ ¦þy†šþœ = 1775,
¦þy†öìŸ¡ì = 16
 !˜öì’Åëû ¢‚…Äy = 37291 – 16 = 37275

63. (b) ²Ì”_ îûy!Ÿ›yœy
2 4 1 21 13
3 7 2 4 6
   

2 3 13 4 9 13 0 0
3 2 6 6 6

 
     

64. (d) î£z!Ýþîû ö›yÝþ þ™y“þyîû 
31

11
  
 

 x‚öìŸîû 
21
5

  
 

 x‚Ÿ =

72

 ö›yÝþ þ™y“þyîû 
8 3 72

11 5
 

 ö›yÝþ þ™y“þy 
11 572 165
8 3


  


65. (a) 90, 70, 50 ~îû †¢y= = 10
 ¢îÅ!˜Á¬ ¢‚…Äy!Ýþ = 10

66. (d) ²Ì”_ îûy!Ÿ›yœy 
5 4 3 1222 222 37
8 9 5 6

      

67. (c) ²Ì”_ îûy!Ÿ›yœy 
3 4 5 101 101... 50.5
2 3 4 100 2

      

68. (a) ¢‚…Äy ”%!Ýþ 3x ~î‚ 2x £öìœ– 
3x 4 5
2x 4 3





îy– 5(2x – 4) = 3(3x – 4)
îy– 10x – 20 = 9x – 12
îy– x = 8
¢‚…Äy ”%!Ýþ ëíye«öì› 24 ~î‚ 16

69. (c) ‰þyîû‹öì̃ îû œyöì¦þîû x˜%þ™y“þ
= (10000 × 12) : (8000 × 8) : (12000 × 6) :
(16000 × 4)
= (10 × 12) : (8 × 8) : (12 × 6) : (16 × 4)
= 120 : 64 : 72 : 64 = 15 : 8 : 9 : 8

 îÄî¢yëû#îû œy¦þ 
158000

15 8 9 8
      

= 3000 Ýþy„þy
70. (a) •îûy ëy„þ– þ™îûþ™îû ‰þyîû!Ýþ !îöì‹yvþü ¢‚…Äy ëíye«öì›

x, (x + 2), (x + 4), (x + 6)
x (x 2) (x 4) (x 6) 12

4
     

 

îy– 4x + 12 = 48
îy– 4x = 36
îy– x = 9
 ¢îÅ!˜Á¬ ¢‚…Äy!Ýþ = 9

71. (b) (A + B) ¢Á™)’Å „þy‹!Ýþ „þöìîû 
20 30
20 30

    
 = 12 !”öì̃

A 5 !”öì̃  „þöìîû „þy‹!Ýþîû 
5 1

20 4
  x‚Ÿ

 (A + B) „þöìîû ¢Á™)’Å „þyöì‹îû 
1 31
4 4

   
 

 x‚Ÿ

 (A + B) ~„þöìe îy!„þ „þy‹ öŸ¡ì „þöìîû
312
4

   
 

  = 9 !”öì̃
72. (b) þ™)’Å ö‰þïîyF‰þy!Ýþ …y!œ £öì“þ B ˜öìœîû x !›!˜Ýþ ¢›ëû œyöì†–

A ˜öìœîû ¢›ëû œyöì† = (x + 15) !›!˜ÝþÐ
~öìÇþöìe (x + 15) = 4x
îy– x = 5
 A ç B ˜œ ”%!Ýþ myîûy þ™,í„þ¦þyöìî þ™)’Å ö‰þïîyF‰þy …y!œ £öì“þ
¢›ëû œyöì† ëíye«öì› 20 !›!˜Ýþ ç 5 !›!˜ÝþÐ
 þ™)’Å ö‰þïîyF‰þy!Ýþ ~„þöìe …y!œ „þîûöì“þ ¢›ëû œy†öìî

20 5
20 5

    
= 4 !›!˜Ýþ

73. (d) Aéôé~îû 60 !„þ!› x!“þe«› „þîûöì“þ ¢›ëû œyöì† 
60
12
   
 

‡^ùÝþy = 5 ‡^ùÝþy
 Béôé~îû 60 !„þ!› x!“þe«› „þîûöì“þ ¢›ëû œyöì†
= (5 + 1) = 6 ‡^ùÝþy

 Béôé~îû †!“þöìî†
60
6

   
 

= 10 !„þ!›/‡^ùÝþy

74. (b) öÝþÆ̃ !Ýþ 10 ö¢öì„þöìuþ x!“þe«› „þöìîû = 250 !›Ýþyîû

 öÝþÆ̃ !Ýþîû xyöìþ™!Çþ„þ †!“þöìî† 
250
10

   
 

 !›Ýþyîû/ö¢öì„þuþ

1825
5

   
 

!„þ!›/‡^ùÝþy = 90 !„þ!›/‡^ùÝþy

~…˜– öÝþÆöì̃ îû !˜‹ßþº öî† + îÄ!_«îû öî† = 90 !„þ!›/‡^ùÝþy
 öÝþÆöì̃ îû !˜‹ßþº öî† = (90 – 4) = 86 !„þ!›/‡^ùÝþy

75. (a) •îûy ëy„þ– ößþËyöì“þîû öî† = x !„þ!›/‡^ùÝþy
 ößþËyöì“þîû x˜%„)þöìœ öî† = (5 + x) !„þ!›/‡^ùÝþy
~î‚ ößþËyöì“þîû ²Ì!“þ„)þöìœ öî† = (5 – x) !„þ!›/‡^ùÝþy
 ößþËyöì“þîû x˜%„)þöìœ 40 !„þ!› öëöì“þ ¢›ëû œyöì†

40
5 x

    
 ‡^ùÝþy

~î‚ ößþËyöì“þîû ²Ì!“þ„)þöìœ 40 !„þ!› öëöì“þ ¢›ëû œyöì†
40

5 x
    

 ‡^ùÝþy

²ÌÙÀy˜%¢yöìîû– 
40 403

5 x 5 x
     
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xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å

îy– (5 + x) = 3(5 – x)
îy– 4x = 10
îy– x = 2.5
 ößþËyöì“þîû öî† = 2.5 !„þ!›/‡^ùÝþy

76. (c) •îûy ëy„þ– xyëû = 100x Ýþy„þy
 ¢Mþéëû = 10x ~î‚ îÄëû = 90x Ýþy„þy

xyëû 112 %
2

 îyvþüöìœ î“Åþ›y˜ xyëû

25100x 1
2 100

    
 Ýþy„þy = 112.5 Ýþy„þy

î“Åþ›yöì̃ ç ¢Mþéëû 10x Ýþy„þy £öìœ– î“Åþ›yöì̃  îÄëû = 102.5x
Ýþy„þy
 îÄëû î,!kþîû £yîû

100 %
 

 
 

þîÄëû î,!k
þ²Ìyí!›„þ îÄëû

102.5x 90x 8100 % 13 %
90x 9

     

77. (d) ö›yÝþ e«ëû›)œÄ

72.5 100
1 1 1 110 15 1 12
3 4 3 4

 
  

            

 Ýþy„þy

7250
10 15 5 12
3 4 12

 
 

  
   
 

 Ýþy„þy

7250 12 600
40 45 60

     
 Ýþy„þy

78. (b) ö›yÝþ ¢%”
5000
100

 [(4 × 3) + (5 × 2) + (6 × 3) Ýþy„þy

=50[12 + 10 + 18] = 2000 Ýþy„þy
79. (a) 3 =’ £ëû = 3 îŠéöìîû

 9 = (3)2 =’ £ëû = [2 × 3] = 6 îŠéöìîû

80. (c) 14 ö„þ!‹öì“þ £zvþz!îûëûy 
214 4
7

    
 

 ö„þ!‹ ~î‚ þ™ÝþyŸ

= (14 – 4) ö„þ!‹ = 10 ö„þ!‹

˜“%þ˜ !›×¢yöìîû £zvþz!îûëûy ­ þ™ÝþyŸ = (4 + 2) : 10
  = 6 : 10 = 3 : 5

81. (b) îy†y˜!Ýþîû ÷”‡ÅÄ
20
2

 !›Ýþyîû = 10 !›Ýþyîû

82. (d) W(2S – W) = 76
îy– 2(2S – 2) = 76
îy– 4S – 4 = 76
îy– S = 20
 öÇþešþœ (20)2 = 400 î†Å!›Ýþyîû

83. (a) ~…yöì̃ – x!“þ¦%þ‹ x = 13 ö¢!›– x•Åþ™!îû¢#›y s = 15
î†Åöì¢!›
 öÇþešþœ = s(s – x) î†Åöì¢!› = 15(15 – 13)
î†Åöì¢!› = 30 î†Åöì¢!›

84. (c)

7 ö¢!›

14 ö¢!›

î†Åy„þyîû þ™yöì“þîû öÇþešþœ = (14)2 = 196 î†Åöì¢!›
²Ì!“þ!Ýþ î,_y„þyîû x‚öìŸîû îÄy¢y•Å = 7 ö¢!›
öëöì£“%þ– î†ÅöìÇþöìeîû ²Ì!“þ!Ýþ ö„þy’ 90°, ¢%“þîûy‚– ²Ì!“þ!Ýþ
î,_y‚öìŸîû öÇþešþœ

90
360





× î,öì_îû öÇþešþœ  21 7

4
     

î†Åöì¢!›

 ‰þyîû!Ýþ î,_y‚öìŸîû ö›yÝþ öÇþešþœ

 21 224 7 154
4 7

      
î†Åöì¢!›

 îy!„þ þ™yöì“þîû öÇþešþœ = (196 – 154) = 42 î†Åöì¢!›

85. (b) 64 îyœ!“þ ‹öìœîû xyëû“þ˜ = ö‰þïîyF‰þyîû 
1 21
3 3

   
 

x‚Ÿ

‹öìœîû xyëû“þ˜  32 12
3
    

‡˜öìvþ!¢!›Ýþyîû

= 1152 ‡˜öìvþ!¢!›Ýþyîû  = 1152 !œÝþyîû

 ²Ì!“þ îyœ!“þîû ‹öìœîû xyëû“þ˜ 
1152 18

64
  !œÝþyîû

——————


